
Addition Pâques (B)Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu: _____/2557 8 45 23 95+ 84 + 64 + 34 + 19 + 59
39 57 27 21 63+ 10 + 66 + 28 + 42 + 60
37 44 2 68 82+ 46 + 23 + 72 + 94 + 51

9 76 40 8 96+ 2 + 76 + 20 + 45 + 89
33 3 94 53 19+ 29 + 32 + 92 + 48 + 2
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Addition Pâques (B) RéponsesObtenez un lapin pour chaque réponse correcte. Lapin Obtenu: _____/2557 8 45 23 95+ 84 + 64 + 34 + 19 + 59141 72 79 42 154
39 57 27 21 63+ 10 + 66 + 28 + 42 + 6049 123 55 63 123
37 44 2 68 82+ 46 + 23 + 72 + 94 + 5183 67 74 162 133

9 76 40 8 96+ 2 + 76 + 20 + 45 + 8911 152 60 53 185
33 3 94 53 19+ 29 + 32 + 92 + 48 + 262 35 186 101 21
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